Tuesday, October 16, 2018 =

e Warm-up
A special promotion for soda has a printed
message on the inside of each bottle cap.
Some have “try again” while others have
“yvou’re a winner”. 1 in 6 of the bottles
wins a prize.
 Roll your dice seven times to simulate the

process of seven people buying a bottle of
soda.

 How many people “won” in your
simulation?

e Random Numbers Table
e Simulations




Objectives

e Content Objective: | will discuss how and why
random numbers are generated to simulate a
situation.

. *Social Objective: | will pay attention and not
distract others.

* Language Objective: | will pay special attention to
new vocabulary and write it in a way that | can
. remember and vse.
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S ractical (Randomness

*\We need an imitation

of a real process so we

can manipulate and

control it. 2

°In short, we are going
to simulate reality.




A Simulation

The sequence of events we want to investigate is called a
trial. — 7 chacks Ap¢ AIANRC

The basic building block of a simulation is called a
component. €ah hdivmad chacls - modeled bg. cl)\'c$r

« Trials usually involve several components.
After the trial, we record what happened—our response

variable. > how m«maét W
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There are seven steps to a simulation...




Cimulation Steps

1. ldentify the componhent tO be repeated.

2. Explain how you will model the compohent’s
outcome.

3. EXplain how You will combine the
compohents to model| a trial.

Ctate Clearly what the response Variable is.
5. TRuh several trials.

6. (Collect and summarize the results of
: all the trials.

7. State your conclusion.




- A Simulation

A special promotion for soda has a printed message on the inside
of each bottle cap. Some have “try again” while others have
““yvou’re a winner”. 1 in 6 of the bottle wins a prize. How many
people out of a group of 7 should | expect to win?
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Random Digit Table
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73676
45467
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68417
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36290
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59335
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- A Simulation

A special promotion for soda has a printed message on the inside
of each bottle cap. Some have “try again” while others have
““yvou’re a winner”. 1 in 6 of the bottle wins a prize. How many
people out of a group of 7 should | expect to win?
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71238 27649 30950
730890 84808 45785
22553 11486 11776

|dentify the component to be
repeated.

Explain how you will model the
component’s outcome.

Explain how you will combine
the components to model a
trial.

State clearly what the response
variable is.

Run several trials.

Collect and summarize the
results of all the trials.

State your conclusion.



Try One in Your Group

The probability of choosing a family at random from this school that has an
internet connection is 80%. Create a simulation that will tell us how many
people out of a class of 30 should have an internet connection.
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4. State clearly what the response
variable is.
5. Run several trials.
6. Collect and summarize the

G results of all the trials.
State your conclusion.



WHAT CAN GO WRONG?

 Don’t overstate your case.

* Beware of confusing what really happens with
what a simulation suggests might happen.

 Model outcome chances accurately.

* A common mistake in constructing a simulation
IS to adopt a strategy that may appear to
produce the right kind of results.

* Run enough trials.
 Simulation is cheap and fairly easy to do.

Slide 11 - 11



Homewor#

Page 266 (9-12

Slide 11 - 12



